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PAPER 1 (BOOKLET A)

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3or4). Shade the oval (1, 2, 3 or 4) on the Optical
Answer Sheet.

(20 marks)

1 Round off 621 534 to the nearest thousand.

(1) 621000
(2) 621500
(3) 621600

(4) 622000

. 3 1
Find thevalue of — + — .
2 e (s = 3

44
(1) m
2
(2) 5
2
(3) 21
16

) 2



What is the value of gl =~ 87

1
M 3
1
@ 3
2
3 —
® 3
@ 32
5
Observe the pattern below.

204+2=147

294 + = 0.147

What is the missing number in the box?

(1) 20
2) 200
(3) 2000
(4) 20000



5 Given that the height of friangie ABC is AD, find its corresponding base.'

oD N\

1) AB
@ AC
@) BC
@ BD

6 Which one of the following is the equivalent ratio of 8 : 37

(1) 16:12°
2) 24:24
3) 40:15
4) 64:9



The solid below is madé“ up of 2-cm cubes. .

Find the volume of the solid.
(1) 8cm®

- (2 16cm’
(3) 32cm®

.(4) 64cm’®

Which one of the following is the same as 6070 mi?

M el Tm
@ 61 70ml
3) 607 7ml

4) 601 70mi



Mrs Goh gave $20 000 to the elderly folksin the old folks centre. Each
‘elderly folk received $500. How many elderly folks were there?

( 4
@) 40
(3) 400
4) 4000

Sharifah had $4000 in her bank account. The bank paid her an annual
inferest of 2%. She did not withdraw any of her savings. Find the
amount of interest Sharifah got in a year. ‘

(1) %80
2) $800
(3) $3920

4) $4080



11 Arrange the following fractions from the largest to the smallest.

5 1 9
KR
o 133
o 13

2 The table below shows the number of picture cards 6 children had.

d Chiid Number of picture cards
Ai Mei '

Bala
Chris
Deming
Emily
Fatimah

QIMh|QOIN|W|wW

What was the average number of picture cards the children had?

(@) 72
@ 2
@ 3
@ 12



13

14

In the square grid below, which:shape .is a right-angled isosceles
triangle?

N 7
/
)4
V \V4 |
) @) 3) “@

Gopal wants to fill a rectangular container 6 m long, 4 m wide and 2 m
high completely with water. Water costs $2 per cubic mefre. How
much money will he need to pay for the water? '

(1 $12
2 $24
(3) $48
@) $96



15 A table with 4 columns is filled with numbers in a certain pattern.
first 6 rows of the table are shown below.

ColumnA ColumnB ColumnC ColumnD

Row 1 1 2 3 4
Row 2 - T 6 5 5
Row 3 8. 9: 10 - 10
Row 4 14 13 12 11
‘Row 5 15 15 16 17
Row 6 . 20 20 19 18

In which coluren will the number 151 appear?

)]
@)
3)
(4)

Column A
Column B
Column C

Column D



Name:' ( ) Class:Pr5¢ )

PAPER 1 (BOOKLET B)

Questions 16 to 25 cany 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated.
(10 marks)

16  Find the value of 180 + (18 — 9) + 100.

Ans:

i )
17  Find the product of % and % Express your answer as a fraction in

its simplest form.

Ans:

There were some boys, giris.and adults in the exhibiion hall. There
were 6 boys for every 8 girls. There were 10 aduits for every 6 boys.
Find the ratio of the number of girls to the number of boys to the number

of adults. Give your answer in the simplest form.

18

Ans:




19  Find the missing'number in the box.
g:56= l-_—l : 30
Ans:
20  Unit cubes are used to build the solid below. Find the total number of
unit cubes used to build it.
Ans:
21  Find the volume of a cube of edge 9 cm.
Ans: cm®
22  Express 3.58 kilomefres in mefres.
Ans: m

10



23  Express 4.3 as a percentage.

Ans: ) %

24  Benny has 800 stamps in his collection. 70% of the stamps are foreign
stamps. How many foreign stamps does he have?

Ans:

25  [In thefigure below, ABC, DBE and FBG are straight lines. Find ZGBE.

Ans: e

11



Questions 26 to 30 wrry 2 marks each. Show your workmg c!early in the
space provided for each questton and write your answers”in the spacés
provided. For questions which require units, give your answers in the units
stated.

(10 marks)

26  There are 20 apples inabasket. 9 of them are green while the rest are
red. What percentage of the apples are red?

Ans: %

27 In the figure below, ABCD is a rectangle. Find the area of triangle
EBF.

Ans: cm?

12



28  In the figure below, PQR is a straight line. * Find ZQSR.

P
_26° Q
39°

58°

Ans:

13



29

~ The mass 6f a box With 200 identical notébiooks is 51.2 kg. When

of the number of notebooks is removed, the mass of the box with the
remaining',r{é)_tgabooks is 26.2 kg. _'_Filr}d.tﬁqin}aés of each notebook.

Give your answer in kg, ‘cormrect i'gf:i decimal place.

1

2

14



30 In a café, a set meal is made up of one snack, one main dish and one
drink, ina set meal, the snack will be served first, followed by the main
dish and the drink. How many different set meals can be formed using

the menu shown below?
Snack Main dish Drink
Fries Fried Noodles Coffee
Com Fried Rice Tea
Grilled Chicken Orange Juice
Grilled Fish
Hamburger
Sushi
Ans:

END OF PAPER

15
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PAPER 2

Questions 1 to 5 carry 2 marks each. Show your 'ia-igrkihg clearty in the space
provided for each question and.write your answers, in the spaces, provided.

For questions which require units, give your answers in the units stated.
- (1{} marks)

1 Mrs Deva needed 4%m of cloth fo make a curtain. How much cloth

would she need to make 8 such curtains? ~Give your answer as a

mixed number in its simplest form.

Ans: _ _ _ m

2 Mr Poon cut a piece of string into two pieces in the ratio of 12 19. The
length of the longer piece was 95 cm. Find the length of the original

piece of string.

Ans: cm




The price of a laptop is $2280 before GST (Goods and Services Tax).

Steve has fo pay 7% GST for the'laptop. How much GST does Steve
have to pay for buying the laptop?

In the figure below, KLM is a straight line.
ZKLN = 122° and ZJLM = 105°. Find 2JLN.

. d N -

122°
105°

Ans: o




5 . In the figure below,, DEF is an isosceles triangle such that DE = : DF.
FGH is an equliateral tnangle EFG is a straight line and ZEDF = 32°,
. Find ADFH ' _ . e .

32° H

Ans:




For questions 6 to 18, show your working clearly in the space provided for
each question and write your answers in the spaces provided.
The number of marks available is shown in‘brackets [ ] at the end of each

question or part-question. )
(50 marks)

6 At a fruit stall, the ratio of the number of oranges to the number of
apples was 5 : 7. There were 640 more apples than oranges. The
stall owner then sold 710 oranges. How many oranges were then loft
at the fruit stali?

Ans: [3]




" There was a total of 18%-.---!&?@.5’ -of wafer in Con‘tginer{\ af;:d.cpiit:cz’in'er B
.at ﬁrsf; ‘.‘Tﬁere was a .;ofa'! of 1 6'—;7 litres of ;vater fn ‘Coﬁtaihér‘A and
(;ontainér C at first. Peter then added 20% litres of water info
ContainerB. How many more litres of water were there in Container B
than Container C after Peter had added the water? Give your a;lswer

in-litres. ”

Ans: [31

Mr Wong has 12 litres of water in a pail. He then pours some of the
water from the pail info an empty rectangular tank measuring 30 cm
long, 22 cm wide and 18 cm high. How much water is left in the pail
after he has filled the tank with water to a depth of 14 cm? Give your
answer in litres.

Ans; [31




In the square grid below, two sides of a parallelogram JKLLM have been
drawn. T " .

(8) Measure and write down the size of ZJKL.

(b) Complete the drawing of the parallelogram JKLM within the grid.

N

(2]

Ans: (a) (1]




10

A group of chlldren oonsnsts of 11:girls and 5 boys. " -The average height
of the group of children is 122, 5 cm:  The average height of the girls is
3.2 cm more than the average hetght of the boys Fmd the average

height of the girls. e :

Ans: [3]




11 The figure below is made up of a square and 2 idenfical right-angled
triangles. The drea of the square is ‘144 cm’. The perimeter of the
figure is 72 cm.  Find the area of one of the triangles.

15 cm

Ans: . [4]




12

Mrs Choo went shopptng with $580..- She bought a handbag and a
bracelet at a discount. :She spent 25%of her money on the bracelet.
The total discount given for the two'items-was $138. -The usual price of
the handbag was $280 and she was given a 30% discount for the
handbag. Find the usual price of the bracelet before the discount.

Ans: [4]




13  Mr Lee bought a fotal of 82 tables and chairs altogether. - He was given:
a discount of $10-per table and a discount of $1.50 per chair. .- He paid .
$310lessinall. How many tables did he buy? :

Ans: [41

10



44  This-year, the ratio of Julie’s: age to-Kelly's age is 1:: 5. . Kelly is 60
years old.this year. .:in how many,years’ time will-Kelly be 3 times as
old as Julie? . A -

Ans: 4}

11



15

in the figure below, QRST is a trapezium. '_PQRfand :PUV .are
straight fines. PQU is an isosceles triangle ‘such that PQ = QU.
ZPRS = 126°. The size of ZUVT is g the size of ZLUTV.

Find ZUVT.

Ans: [4]

12



16

At the start of the year, Jonathan and-Sarah received daily allowance
from thexr mother. Jonathan received a fixed amount of ailowance
each day Sarah recewed 30 cents more ‘than ‘Jonathan for daily
allowance each day. . Jonathan saved 80 cents more than Sarah each
day. A number of days later, Sarah spent - $120 and Jonathan spent
$48.

(a) How many days did Sarah take to spend $1207

(b) How much was Sarah spending each day, :given that she spent the
same amount of money each day? '

Ans: (a) E3l

(b) (2]

13



17 Agroupof pdpils from School A, School Baﬁ& Schoot C eollected a total
of 5700 kg of-old newspapers. Each pupil from School A coliected
12 kg.  Each pupil from School B collected 15 kg. Each pupit from

School C collected 16 kg. Given that -;— of these pupils were from
School A, i— of the remaining pupils were from School B and the rest

were from School C, how many pupils were from School C?

Ans: S [5]

14



18

Mike giued a metal cube onto the base of an empty rectangular tank as
shown below. Mike then tumed on a tap to fill the tank with water.
Water from the: tap flowed at a rate of 5. 587 littes per minute. " [t ook 8
minutes to fill the tank with water fo its brim, with the metal cube being

’ completely submerged. ~ Find the length of i one srde of the metal cube.

BH

56 cm

Ans: {51

END OF PAPER

15
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QL.72%m | Q22 3580m

Q24.560 Q25. 245114 + 42 = 156,180 < 156 = 24

- Q26:55% 20 - 9 =11, 2x 100 = 55
1Q27.300cm2 40 +4=10,10x 3 = 30, % x 20 x 30 = 300

Q28.52°
58 + 26=84

- 180-84=96
180-96=84
84+39=123

. 180-123 =57

Q29.0. Bkg
200+2=100

© 51.2-262=25
25+1+20=0.25%0.3

-Q30.36% 6 X6=36

Q1.37%m 2425 x8=37Y%
Q2.155cm
95+19=5

12u+19u=31
31x5=155

Q3.$159.60- —-x $2280 = $159.60

Q4.47°2> 122 + 105 =227, 227 - 180 = 47

Q5. 46°
180 -32 =148
148:2=74

74 + 60 =134
180 -134=46

Get PSJ Private Tutor to Guide you through Exams Now!
Contact www.privatetutor.com.sg



Q6.890 -

2u"» 640° .
1u 2640+2=320
320x5=1600

| 1600 - 710 =890

Q7.230.5 litre
18% - 16% = z-;%
1834 + 203 = 39%
_ 92l
39% - 16% =23~
231 - 23.05
20

Q8. 2.76 litre
30x22x18=113880
11880cm3 = 11.880 litre
30x22 x14=9240
9240cm3 = 9.240 litre

Q9a.123° Q9b. SEE PICTURE -
AR
ot
i / £ |
/ /
1 7
.
4 /.
hY
Q10 123.5CM
11+5=16
12252 16=1960
32x5=16

1960 + 16 =1976
1976 = 16=123.5

Q11. 54cm?
12x12=144

12 + 12+15+15 =54
72-54=18
18=+2=9

1% x9x12=54




Q12. $199

30 _
700 X $2.80 = $84.

$280 - $84 =$196
$138- $84 = $54
$580 - $196 = $384

25 4 $580 = $145

100 .

$145 + $54 = $199

Q13.22
$2x$1.50=$123
$310-$123=$187
$10-$1.50=$8.50
$187 + $8.50 =22

Q14.12
60+ 5=12
60-12 =48
48+2 =24
24-12=12

Q15.72°

180 -126 =54
180-54=126
180 -126=54
54:2=27
180 -27 =153
Bu+9u=17u
153+17=9..

9x8=72 ..

Ql6a. 60

$0.90 + 30¢ =$1.20 ( Sarah spent$1.20 more than J)

$120-$48=$72
$72:$1.20 = 60

Q16b. $2
$120+60=%2

Q17.228
12x1=12
15x1=15
16x3=48

48 +15+12=75
5700+75=76
76x3=228




Q18. 10cm

34x24x56'= 45696

558x8=44696

45696cm3 = 45.696 litre
45696 -44.696=1

| Hitre =1000cm?

10x 10 x 10 = 1000
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